Multiplier les nombres décimaux par des puissances
négatives de dix

Nom: Date: Note:
6524,5 x 0.0001 = 3044,1 x 0.1 =
6983,5x0.01 = 4881, 5 % 0.0001 =
5705,1 % 0.0001 = 3410,7 % 0.0001 =
7146,4 x 0.001 = 9699 x 0.1 =
5196,3 % 0.0001 = 8594, 6 x 0.0001 =
6443,4 x 0.1 = 8622,7 x 0.01 =
1480, 7 x 0.0001 = 4781,3 x0.01 =
5675,5 % 0.0001 = 6976,8 x 0.1 =
5535,7 % 0.1 = 1854 x 0.0001 =
2017,8 x 0.001 = 7766,2 x 0.01 =
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Multiplier les nombres décimaux par des puissances
négatives de dix

6524,5 x 0.0001 = 0.65245

6983,5 x 0.01 = 69.835

5705, 1 x0.0001 = 0.57051

7146,4 x 0.001 = 7.1464

5196, 3 x 0.0001 = 0.51963

6443,4 x 0.1 = 644.34

1480, 7 x 0.0001 = 0.14807

5675,5 % 0.0001 = 0.56755

5535,7 % 0.1 = 553.57

2017,8 x0.001 = 2.0178

Date: Note:

3044, 1 x 0.1 =304.41

4881, 5 x0.0001 = 0.48815

3410,7 x 0.0001 = 0.34107

9699 x 0.1 = 969.9

8594, 6 x 0.0001 = 0.85946

8622,7 x 0.01 = 86.227

4781,3 x0.01 =47.813

6976, 8 x 0.1 = 697.68

1854 % 0.0001 = 0.1854

7766,2 x 0.01 = 77.662
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